SM2
Pre-Chapter 6 Practice Test

Identify each pair of angles as corresponding, alternate interior, alternate exterior, same-side
interior, vertical, or linear pair.
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Solve for x. State which theorem or postulate you used.
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Write a two-column proof for the exterior angle theorem. w
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Find the measure of each angle indicated.
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Solve for x.
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State if the two triangles are congruent. If they are, state how you know.
¥ remember 4o mark vertcal cm%\es and shared s icleS/x
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Complete each congruence statement by naming the corresponding angle or side.
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Mark the angles and sides of each pair of triangles to indicate that they are congruent.
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Write a statement that indicates that the triangles in each pair are congruent.

7o AFED 2 AFWU |

Lnot the only answer but lekers

28)

AWXV 2 A\/Tﬂ

Shouwld still mateh up in Ha same

1 11

Vv

Find the value of x.

(isosceles Athm: sides x5 M%les é‘)

31) -
ﬁ" [x=10]
x

(converse of fSOSC,A Ham:
fad
= angles — = sides)

29)

33) Write the slope formula.

o 2% B, rise
T A% X=X, iy

i) like AEDF ZAVUF
U

32)

34)_ Write the distance formula :

i

|d=V/6ux07 + (ga- g
as C=Va% + b

Same thi

36) Prove whether AABC is isosceles,

has a right equilateral, or scalene. by usin

35 ]ProveithatATRN is a right triangle. prove
) g distance formula

(-2, -3) R(0, 3) N3, 2) e P
R o Hh ¢
with © S | 2otiee 3 ACL2) B, 3) C00) f, Tha B 7
work/calculahion TS \l"wem\)b QAre perpendicular) Ay
P’SN"“D j Y L] .ILSV\I de ! g TR= B3 <y 9 AABC -
& Conclusion 14 W Ddar lopel_- '_‘)2‘0 . =3 Scalene
statementy A s \ope RN= = 72 9 | because all
Use complete | R o= 5| three sides
sentences) “ELETHTS A 6 B N Jare different
= REYEAEYEAN IR x(QVL 'Hﬂ
R an o) aths
L s the L el
sumbo| fo
Pc‘éﬁnd(cwfar —— = i
to TR L RN Bicou&se Pouw Nave ’

OPPOSH‘Q YQC(F rocal SLOF*QS.

Therefore, LR is 90° and
ATRN is a r(%h+ +r\‘ow\%{e.

A (e -0 = VT ] - B
Ac.w 4'14’2‘2 = et = V.g‘-s 1%\7-
BC: V@ 3% =y DF- &

o+ 3 36+q =(V45 :C@J




Finish the syllogism.

37) Pizza is good for you. Food that is good for you tastes like cardboard.

Pizze Anstes like cardboard.

38) If Steve goes to class, he can turn his homework in on time. If Steve turns his homework in on time, he
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